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RIFEP 5 KR
EPEZIE CRFFEM - CHBERFE 2
TR G AR SRR G s R (2
) Bz s 10 K-1-10 4-2~20 -1 2 20 -2

B A RIERRIEISE L 0 A A ERR SR G WAHRIIE A0
LA REAMEREZ AR STIRE  2al ¥ gL 0 LRl
TR EAcR 4o
34 EplsbABKTERLEEREL
10 # -1 10 # -2 20 # -1 20 # -2 e
7P MDL | ¥ = R
R O|PA AR AR | TR RE | RE TR AR AR | TR | R *;fi
kg — | ec | 301 | 297|294 | 312 | 309 | 306 | 29.9 | 295 | 29.2 | 304 | 300 | 296 | —
pH i — | — | 81 |81| 81| 82|82 |82 | 82|82 |82 82| 82| 82 |75-85
BiE — |mgL| 66 | 65 | 63 | 66 | 64 | 62 | 67 | 64 | 63 | 68 | 66 | 64 | >50
425 F| 10 |mglL| <10 | <1.0| <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0
nEZFE|l 15 |mgL| 21 | 30 | 20 | 28 | 28 | 22 | 21 | 21 | 29 | 26 | 28 | 29 | —
B4 | 10 |mglL | 254 | 290 | 240 | 50 | 38 | 35 | 93 | 90 | 94 | 44 | 50 | 46 | —
ii 001 | mgL | 027 | 051 | 0.25 | 054 | 0.23 | 0.23 | 0.332| 0.29 | 027 | 022 | 028 | 025 | —
FE@™ | 006 |mg/lL | 025 | 023 | 024 | 041 | 045 | 0.39 | 0.31 | 0.27 | 0.30 | 043 | 043 | 044 | —
LA @ | 0007 | mgll | 0.02 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | ND. | —
B ;?“ﬁ <0 | SPUT 360 | 350 | 390 | 65 | 40 | 120 | 160 | 75 | 120 | 60 | 35 | 50 | —
Gy w10 [ mgll | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | 20
@pes§ | 009 | mg/L | 0386 | 0.66 | 0.319 | 0.59 |0.411| 052 | 0.423 | 0.348 | 0.422 | 0.379 | 0.415 | 0.357 | —
#pm | 05 [mgL| 09 [ 10 | 09 [ 12 | 09 [ 09 | 09 | 09 | 10 | 09 | 11 | 10 | —
+ 4]4> {0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1
- &+ [0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. [ N.D. | N.D. | N.D. [ N.D. | 0.1
F| 5+ |000003| mg/l | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | ND. | 0.1
Z; = 4> (0.00005| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1
Z% & [0.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | ND. | 0.1
]‘5 }%‘i"}&\\ 0.00250 mg/L <0.00250 |<0.00250( <0.00250 | <0.00250 |<0.00250 | <0.00250 | <0.00250 |<0.00250| <0.00250 | <0.00250 | <0.00250 | <0.00250 01
i — |emis|ost | — | — |o28| — | — |or9| — | — o050 — | — | —
e — B 3 — — ! — — 3 — — 3 - - —
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